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(a) 1945 (b) 1949 (c) 1938 (d) @R 77
TYE: (d); 1939 ST Q@i et Seies war 29 |
Xx+2y <10,x+y < 6,Xx < 4,x,y = 0*SHR z = 2x + 3y 9 A V- [DU’17-18]
(a) 14 (b) 15 (c) 16 (d) 18
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FANE: (C); (4,2) s °4% (0, 0), (4,0), (2,4), (0,5)
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Z(u,u)=2>(0+3><ﬂ=[}; Z(4ln}=2><4+3><0=8;2(412)=2><4+3><2=14
2(2_4)=2x2+3><4=16; Z(ul5]=2xﬂ+3x5=15 "'Zmax=16

|5 — 2| < 1 serrea s - [RU’17-18}

() s <x << (b) s> x> ()5 <x<7 (d) BT T
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W-(a), —1{5—5{11‘#—G{Eﬂ—4=?6}a>4=ﬁ3:>§>2=?§<'.3KXE --gn':xctﬁ

frrea FfRaE et ST sy <99 AfRpa ¥z = 3x + 4y [DU’09-10,KU’17-18]
(S r x+y<7, 2x+5y<20, x=20, y=0. |

(a) (5,2) (b) (7,0) (c) (10,0) (d) (0,7)

HAY: (a); TEIEE AT X +y =7 8 2x +5y =20 T W AR, x =5, y=2
X+y262x+y=8,x20,y= 0 SHEIE Z = 2x + 3y 9 T TN F6? [Ans: a][JU'16-17)
(a) 12 - (b) 4 (©) =5 (d) 16
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() 390 BIF (b) 420 BIF (c) 380 DIl (d) 400 Bit
FAIYE: (a); 15x + 5y < 105, 5x+ 10y < 60

2 = 50x + 30y, (A 47 BT AR Zmax = 390 [RAR (6, 3)]
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(aa<1 (b)—a<1 (c)—-1<ax<1 (dae(-1,1)cH
x=0y= U.x+y£5,x+2y:_>8'iﬁ‘m1ﬁz=2x—ytﬂﬁ'~’ﬁﬁ¥ﬂﬁ- [DU’15-16]
(a) 1 (b) -1 (c) —4 (d) =5

TAHI: (d);
Z=2X—-y
y 059GV, z=2x0—-5=-5
(0,4) 99T, z=2X0— 4 = —4
(23)99EW, z2=2%X2—-3=4—-3=1 &z 4, =—5
QR ceETT Prars vers sidA- [Ans: b][KU’13-14]
(a) (b) e (c) ¥oiraw (d) BT T

Written |
5x; + 10x, < 50,%x; + X, 2 1,X; < 4,%; = 0,%, = 0 =1 AATF 2X4 + 7X, 99 a6 7 @&«
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HATYIH: 5}{1 + 10}[2 <50= X1 + 2}{2 < 10.... (i)
Xy + Xy = 1o (i) Xp < 4 . (i) Xy 20, Xp 2 0 ... (iV)

L =2%x1 + 73{2
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(Lo asswZL=2

(0, 4) 97 &5 Z = 28
(10, 0) @9 &7 Z = 20
(2, 4) 9T T Z = 32
o Z g afqy A =2




